
Product Mounting Disclaimer 
Gamber-Johnson is not liable under any theory of contract or tort law for any loss, damage, personal injury, special, incidental or consequential damages for personal injury or other damage 
of any nature arising directly or indirectly as a result of the improper installation or use of its products in vehicle or any other application. In order to safely install and use Gamber-Johnson 
products full consideration of vehicle occupants, vehicle systems (i.e., the location of fuel lines, brakes lines, electrical, drive train or other systems), air-bags and other safety equipment is 
required. Gamber-Johnson specifically disclaims any responsibility for the improper use or installation of its products not consistent with the original vehicle manufactures specifications 
and recommendations, Gamber-Johnson product instruction sheets, or workmanship standards as endorsed through the Gamber-Johnson Certified Installer Program.

Rev.C INST-874

Product Mounting Disclaimer 
Gamber-Johnson is not liable under any theory of contract or tort law for any loss, damage, personal injury, special, incidental or consequential damages for personal injury or other damage 
of any nature arising directly or indirectly as a result of the improper installation or use of its products in vehicle or any other application. In order to safely install and use Gamber-Johnson 
products full consideration of vehicle occupants, vehicle systems (i.e., the location of fuel lines, brakes lines, electrical, drive train or other systems), air-bags and other safety equipment is 
required. Gamber-Johnson specifically disclaims any responsibility for the improper use or installation of its products not consistent with the original vehicle manufactures specifications 
and recommendations, Gamber-Johnson product instruction sheets, or workmanship standards as endorsed through the Gamber-Johnson Certified Installer Program.

1/4 x 3/4" long
carriage bolts, washers
and lock nuts

mounting bracket
positioned backward

The following instruction sheet is for mounting the scanner pocket mounts on 
various fork trucks.  7160-1306 (with the short back plate) will fit on rectangular 
overhead guard legs 1.00" to 2.50" wide while the 7160-1306-01 (with large back 
plate) will fit on rectangular overhead guard legs 2.50" to 5.00" wide.

The assembly attaches to the rectangular overhead guard leg on the fork truck or 
can be used in conjunction with roll formed mounting brackets like GJ# 7160-0418 
for trucks with roll formed overhead guard legs.

The scanner pocket can hold a scanner with a head thickness of 2.50" high x 4.50" 
wide.  The scanner pocket width is adjustable to accomdate scanners 3.50" to 
4.50" wide.  The pocket mounting angle is also adjustable from parallel to the 
overhead guard leg to 60 deg. downward away from the overhead guard leg.

The scanner pocket has multiple square holes on each side of the pocket for a 
vast array of mounting locations so each user can best postion the mount as they 
see fit.

The pocket mounting bracket can also be positioned forward for backward to 
adjust the location of the scanner pocket on the vehicle.  See below for various 
mounting options.  

mounting bracket
positioned forward

© Copyright 2024 Gamber-Johnson, LLC

7160-1306 & 7160-1306-01
Scanner Pocket Mount  PS-001Printing Spec:

If you need assistance or have questions, call Gamber-Johnson at 1-800-456-6868

Form RevisionProduct
INSTALLATION INSTRUCTIONS



7160-1306 (with small back plate) is shown below in varrious mounting positions.  
Attach the mounting bracket to the overhead guard leg with the short back plate 
found in hardware bag 7120-0553.  Postion the 3/8" carriage bolts as close to the 
overhead guard leg as possible to help prevent the mounting bracket from bending 
during installation.  Then attach the scanner pocket to the mounting bracket in the 
desired position which best fits the end user.  Use the 1/4" x 3/4" carriage bolts, flat 
washers, and lock nuts found in hardware bag 7120-0885 to attach the pocket to the 
mounting bracket.  The width of the scanner pocket can be adjusted by loosening 
the (3) lock nuts on the top side of the pocket.  Adjust the pocket to the desired fit 
and retighten the lock nuts.

lock nuts to adjust width 

7160-1306



7160-1306-01
7160-1306-01 (with large back plate) is shown below in varrious mounting positions.  
Attach the mounting bracket to the overhead guard leg with the large back plate 
found in hardware bag 7120-0555.  Postion the 3/8" carriage bolts as close to the 
overhead guard leg as possible to help prevent the mounting bracket from bending 
during installation.  Then attach the scanner pocket to the mounting bracket in the 
desired position which best fits the end user.  Use the 1/4" x 3/4" carriage bolts, flat 
washers, and lock nuts found in hardware bag 7120-0885 to attach the pocket to the 
mounting bracket.  The width of the scanner pocket can be adjusted by loosening 
the (3) lock nuts on the top side of the pocket.  Adjust the pocket to the desired fit 
and retighten the lock nuts.

lock nuts to adjust width 


	Model
	Drawing View1
	Drawing View2
	Drawing View4
	Drawing View6

	Sheet1
	Sheet2

